MODEL C-300 MODEL C-300-RC

5 [

FOR 1U INSTALLATIONS

20 ¢
END BRACKET
, q B-217
1,75
i BAR NUT
RECOMMENDED MOUNTING FOR RECCMMENDED MCUNTING FOR BAR NUT
2-SLOT STYLE (C-300) 1-8LOT/3-SLOT STYLE (C-300-RC)
S-TYPE CHASSIS SECTION
#10-32X3/8 PHILIPS PAN HEAD CABINET FRONT S
~ MOUNTING RAIL N

LEFT
SIDE 2’- . ///

C-300-8-1XX C-300-8-1XX-RC C-300-S-1XX-RC-38
2 OPEN SLOTS 1 OPEN SLOT 3 OPEN SLOT CABINET REAR
MOUNTING RAIL
- & - LEFT SIDE
&y ] (C]
€-300-543X C-300-8-4XX-RC G-300-S40¢-RC-3S
2 CLOSED SLOTS 1 CLOSED 5LOT 3 CLOSED SLOT ~ -

REPLACE THIS BAR NUT WITH #10-32 KEPS NUTS

_~ #10-32X3/8 PHILIPS PAN HEAD

INTERMEDIATE

/ SECTION
. / |
P / - NOTE:
INTERMEDIATE SECTION MUST BE
INSERTED INTO THE STATIONARY SECTION
— BEFORE THE END BRACKET IS ATTACHED

CHASSIS TRAK IDENTIFICATION LABEL
LOCATED ON THE BACK SIDE OF
STATIONARY SECTION

~.
N
\\\ % #10-32X3/8 PHILIPS PAN HEAD

FLANGE MOUNT %
STATIONARY SECTION 4 #10-32 KEP NUTS
™~

#10-32X3/8 PHILIPS PAN HEAD
{OPTIONAL REAR STOP)

B-TYPE CHASSIS NOTE:
rd SEOTON I //% - .31 CLEARANCE REQUIRED BEHIND /
%@;\ o /§ STATIONARY SECTION TO ALLOW LOCK
P G A7 BUTTON TO RELEASE " s
® P &
/) ) '

#10-32 KEP NUTS

Pw_ )
& \ N
FOR FLUSH MOUNTING C'SK.

- #10-32X3/8 PHILIPS PAN HEAD FOR #10 FLAT HEAD
P ~~  (OPTIONAL)

N \@\
2 PIVOT SCREW
™~ #5/16-24
é.

0

D-TYPE CHASSIS
SECTION

~ i
TILT STOP /'f Y |
SCREW L

SHOULDER SCREW
#12-24

SHOULDER SCREW ./~
#12-24

N-TYPE CHASSIS _.
SECTION

E #10-32X3/8 PHILIPS PAN HEAD

INST3000-B

#10-32X1/2 PHILIPS PAN HEAD

STRAP MOUNT STATIONARY
SECTION

% NOTE:
/\_ RHE&LH SAME (ALL RIGHT HAND)
INVERT ONE SLIDE AND MOUNT AS
LEFT HAND

C-300 SERIES SLIDE

(CC3000 - CABINET/STRAP MOUNTING)

GENERAL
DEVICES

Electronic Hardware
Manufacturers

CHASSIS TRAK" Telescoping Slides
www.generaldevices.com

If you have questions please call 317-897-7000
or send e-mail to sales@generaldevices.com






REPLACE THIS BAR NUT WITH #10-32 KEPS NUTS

FOR 1U INSTALLATIONS

B


